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UPDATE ACCNT
SET AMOUNT = AMOUNT - 500
WHERE ACCNT_NO =1
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UPDATE ACCNT
SET AMOUNT = AMOUNT + 500
WHERE ACCNT_NO =2
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Dirty Read : Tx10[| Ot& HG! 8P | X2 HIOIHE Tx2Jt 2 &3

Non—Repeatale Read : T><1 o] & HIOI EHE B892 Selectol= A0l Tx20}

oY HIOIE{E update = delete)\l?:!
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3. EciE Al =

—

[HM

— CUBRIDJt Kl 8ot= Held =&

= ALl =& 49 Bl
1 Read Uncommited(3) | HEI&J|,Bt==Jtset& I, =88 o &S Cubrid2| 7|2 &3¢
2 Read Commited(4) BIS2Jts8td ), 2880 3 S Oracle?| J|&2 && Y
3 Repeatable Read(5) S| ol&E
4 Serializable(6) | &% Xt&t L2AH0| NHE =3

— Cubridel &cl == €&

cubrid.conflt& 2| "isolation_level=x X" £ &

S8 s )82 dFA0l= "set transaction isolation level =Xt @E2 =2
M X

= O
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e

c|

— Cubrid Locke =& (Cubrid H2| === 3)

= 2t 015 &2 2R &3 UIIRH(TX2)
(S_Lock) | ='7' = = =
HIEH S | Ly = o9l e M|
(il =, j j
3 BU S5 | oy amoar x5 = 917] Jbs, M| 24
(U_LOCK) ’ ’
o 2g &2 ae pe AJI0HEH 20l DE @ B 2, U # AN
4 (1S, LocK) | S_LOCK &S Al Tabledi IS_LOCK &S e, o= 8 23 gl
o HIE B2 e te AJ0HHZE 2H QS # B 2, U # B4
5 (X_LOCK) | X-LOCK SIS Al Tableil IX_LOCK &< Sl o s 28 20
S5 9= et & 8= AJ|IOtHE 20FH EE & Aol =IFH L2 & HAl
6 S(sIx_LOCK) | 'S-OCKHX_LOCK == Al SIX_LOCK 55 £}, E # X3 20f, U= o Xa| Jbs
25 me o | €2 3 X2 319 TS I10l NS_LOCK IS, &l |
7 = N ;’TO:’;; £ (1S 210l NS_LOCKE dll Hl, 88/l 1= NS_LOCK® 21J] Jbs,NS_LOCKO| 23U M| 22t
Xl
ChS 2 HIEt &= | A4, M e 23] S e A K= X_LOCK, ths 1 | o, C =
’ 2 - ' Il s, M| 2D
8 (NX_LOCK) | 7IXI= NX_LOCK &S = L=
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— Cubrid Locke =X (Cubrid H2| == 4)

= 2 0|8 &= BERAH(Tx1) &3 UIIRH(Tx2)
Do Xk
1 S Lock | &1 E 9lJ| Jts, MI| 2Dt
N g |
2 (;'(“ELBES AN 917] £}, M| 20}
WAl EZ = = —
3 (U_LOCK) WAL A CHA X3 5 10| 0, MAD| 20t
o zg &2 - . AJDHEHE 2, DE S HA 20, U2 H WA
4 (IS_LOCK) S LOCK %! = }\| Tab|60” IS LOC == j}%, E% i.H Eil jl’%
ol WIEH &2 . e AJDHEHE 2D, DE S HA 2}, U2 o WA
5 (X_LOCK) | X-LOCK &5 Al Tabledi| IX_LOCK &5 Sl o= o 28 20t
29 o< HIEH & . AJDHEHE 2, DE S HA 20, U2 H WA
6 S(sIx_LOCK) | 'S-OCKHX_LOCK == Al SIX_LOCK 55 £}, E # X3 20f, U= o Xa| Jbs
ALOI = Al © O 3= /\I-OCJ & o
) IPRFpePe Fop
(NS_LOCK) ;' = = ' = == i 2 USH M| 2D}
OIS I HIEF &2 | 24, AH A X5 & OA 20 DXIE X_LOCK, TS 3l | o4 w .
’ 2 - ' p[SIEY
8 (NX_LOCK) | 7IXI= NX_LOCK &S Il 84, 2201 =k
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- 2 82JI(Cubrid A2l+=& 3)

create table tbl1(id int primary key);

insert into tbl1 VALUES (1), (2), (3), (20);

Al

—

TX1

TX2

SELECT » FROM TBL1;

SELECT » FROM TBL1;

= 0| &l

== {Result of SELECT Command in Line 1> ===

© 2015 CUBRID Co., Ltd. All rights reserved.

INSERT INTO TBL1 VALUES(8);
COMMIT;
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FEa ) et?

S| (Cubrid Zel=&

create table tbl1(id int primary key);
insert into tbl1 VALUES (1), (2), (3), (20);

Al

—

TX1

TX2

SELECT » FROM TBL1;

COMMIT;
SELECT » FROM TBL1;

o=

== {Result of SELECT Command in Line 1> ===

© 2015 CUBRID Co., Ltd. All rights reserved.

INSERT INTO TBL1 VALUES(8);

2

CHoI=!

COMMIT;

10

CHoI=!
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FEa ) et?

- 28 2JI(Cubrid A2l+== 6)

create table tbl1(id int primary key);

insert into tbl1 VALUES (1), (2), (3), (20);

Al

2t

—

TX1

TX2

SELECT » FROM TBL1 WHERE
ID < 10;

SELECT » FROM TBL1 WHERE

ID < 10; TIIMEI(SE D] eXl)

ol 28

© 2015 CUBRID Co., Ltd. All rights reserved.

INSERT INTO TBL1 VALUES(8);

COMMIT;
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6. 2J/0t &=

- AJ|0F ot &HZ (SCHLS) : 2o 2 =3 Al &5, (HE EHME0 oY A0t =F = LXK
- AJ|0F =8 &= (SCH-M) : DOL & =& Al &5, OHE EHME0 =F & AI|0H0 8 2ot=
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— "cubrid lockdb databasename" @&
2

&= &23A AIAE Het0IeH &4 gt &0l
%% Lock Table Dump *xx

Lock Escalation at = 1008000, R

Lock Escalation at : & N AZ0]|&0] EhA4

&= M=2 &0l 100,000 =UAl & ==
HE(HOIZ 2222 HHMEZH SAH0| E

= 0O 0o —

She X2, 8 B3 R4 Il
220/ HOIE +& 8302 0

Run Deadlock interval : 1 = AHEH
(@)

s EdBE0| A=Al §Alotes I, 1=0t
Ch WEEIE J=Al &0l = = S otlhE A2

= Rollback Al&

1]
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Jon

— "cubrid lockdb databasename" @&
M HIOIEHIOIA MHO EE5=0C1 2210|HE &0l

Transaction (index 1, CsS , DBAEnewTest1]|26128)

Isolation REPEATABLE CLASSES AND READ UNCOMHMITTED INSTANCES
State TRAN_ACTIUE

Timeout_period : Infinite wait

Transaction (index 2, csql DBAE@newTest1| 27 )

Isolation REPEATABLE CLA » AND READ UNCOMMITTED INSTAHNCES
State TRAN_ACTIVE

Timeout period : Infinite wait

Transaction : ESHME HE(ID, T2, HE@SAE|ZZNAYS)
Isolation (oY EcHM M| AL|+FE

State : EHEH 2| AEH

Timeout_period : &2 Il Al2t MEH &3

\‘J CUBRID
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Jon

— "cubrid lockdb databasename" @&
HH &2 ArEH &0l

oo o

I'I['\_iPr.I Lock Table:

obj s which are locked =
of objects which can be locked = 10608

] yp y of class { 8| 69 29) testd.
Index name: pk_test1_id
Total mode of holders = NX_LOCK, Total mode of waiters
Num holders 1, NHum blocked-holders= @, Num waiters=
LOCK HOLDER
Tran_ir 1, Granted_mode = HX_LOCK, Count =
LOCK WAITER
Tran_index 2, Blocked_mode = HNX_LOCK
Start_waiting_at = Fri Jul
Wait_for_secs = -1.00

Current number of objects which are locked : &2 24XMI2 =
OID : %%ﬂiIEIOIIIWEI’E‘ HS

Object type : 24Xl SF, test12 HIOI =L

Index name : CIEIA H

Total mode of holders : tbl1 0l NX_LOCKO| ’“oi AS
Total mode of waiters : tb1 0l NX_LOCKZ €11 A2
Num holders : &3 H=

Num blocked—holders : XISHEl &2 4= (ARA2HH A 2ol XEE &2 M=, 0IE =S X_LOCKESHA &=
HAISHAL| HIOIE 20| Z22HU= AEH)

Num waiters : CHI| X+ JH==

Lock holder : &2 ERAt 82

Lock waiter : &= UIIAH E 8

© 2015 CUBRID Co., Ltd. Al rights reserved. 15 “ CUBRID
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Cubrid

Oracle

update testl set val=200

where id = 20 and val =20,

drop table tbl1;

OOLE M= Commit otk 25

rollback;

select val from testi
where id = 20;

21 =20

© 2015 CUBRID Co., Ltd. All rights reserved.

update test1 set val=200

where id = 20 and val =20,

drop table tbl1;

DOLE Xl= =2F HU!

rollback;

select val from test1
where id = 20;

Z 1t = 200
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7. &3 &EH =2 (INSERT VS EQUAL SELECT)

— "cubrid lockdb databasename" & & O

&2 AER
create table tbl (id int primary key, a int);
insert into tbl values(10, 10);
insert into tbl values(20, 20);
insert into tbl values(40, 40);

TX1

g0l A5 (cubrid Hel#=&=

= 3)

TX2

51| insert into tbl values(30, 30);

y of class ( 0] 69] 24) = tb

olders = NS_ otal mode of U
1, Hum blocké&u= = B, Num waite

1, Granted_mode = NS_LOCK, Count =

4 = tbl.
mode ofF waliters =
= B8, Num waiters= @

1, Granted_mode =

X_LOCK, Count = 1

© 2015 CUBRID Co., Ltd. All rights reserved.

= NULL_LOCK.

NULL_LOCK.

—> id = 3001l CHoll X_LOCK &5

select * from tbl where id = 30;

SELECT Command in Line 1> ===

1 rows selected. (0.0683461 sec)

1 command(s) successfully processed.

17
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7. &3 &EH =2 (INSERT VS EQUAL SELECT)

— "cubrid lockdb databasename" & & O

&= AMEH
create table tbl (id int primary key, a int);
insert into tbl values(10, 10);
insert into tbl values(20, 20);
insert into tbl values(40, 40);

TX1

301 Al (cubrid Hel2==

)

TX2

51| insert into tbl values(30, 30);

oCayr Moue o w
fers= B8, Num waite

LOCK HOLD

Tran_ ex = 1, Granted_mode = NS_LOCK, Count =

0ID = 1]
Object Class {8 69 24) = tbl.

1, Granted_mode = X_LOCK, Count =

id = 300/ CHoll S_LOCK= &
A X8 Tx10] X_LOCK= &50
PIES

© 2015 CUBRID Co., Ltd. All rights reserved.

= NULL_LOCK.

oF walters = NULL_LOCK.

—> id = 30,400l CHoll NS_LOCK &=

—> id = 3001l CHoll X_LOCK &5

select * from tbl where id = 30;

01D = 1] 398] 43
“[‘_i’”" type: Instance of class ( 0| 69| 24) = tbl.
Total mode of holders = X_LOCK, Total mode of waiters =

—Numbiocked-holders= @, Num waiters= 1

. 1, Granted_mode = X_LOCK, Count = 1
LOCK WAITE

Tran_1index =

2, Blocked_mode = S_LOCK
Start_waiting_at = Wed Jul
Wait_for_secs = -1.00

1 18:19:28 2615

\4
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7. T2 AR 2HOI(INSERT VS UPDATE)

— "cubrid lockdb databasename" & & O

oo ot 2ol s

create table tbl (id int primary key, a int);
insert into tbl values(10, 10);
insert into tbl values(20, 20);
insert into tbl values(40, 40);

TX1

(cubrid He|$==

)

TX2

51| insert into tbl values(30, 30);

= NULL_LOCK.

oCayr Moue o w
fers= B8, Num waite

LOCK HOLD

Tran_ ex = 1, Granted_mode = NS_LOCK, Count =

0ID = 1]

Object C a5 (o 69 2h) = tobl.
- ‘ oF waiters = NULL_LOCK.

1, Granted_mode = X_LOCK, Count =

id = 3004l CHoll U_LOCK= €11
A X8 Tx10| X_LOCK= & sadll M
PIES

© 2015 CUBRID Co., Ltd. All rights reserved.

—> id = 30,400l CHoll NS_LOCK &=

—> id = 3001l CHoll X_LOCK &5

update tbl set a=1000 where id = 30;

0ID =
Object type: S of class ( 69 24) =
e K, Total mode o
yIders= 8, Num

U_LOCK.

1, Granted_mode = X_LOCK, Count =

LOCK WAITER
Tran_index = 2, Blocked_mode
Start_waiting_at

U_LOCK
= Wed Jul 1 18:25:2
Wait_for_secs = -1.00

o ~{> CUBRID



7. T2 AR 2HOI(INSERT VS UPDATE)

— "cubrid lockdb databasename" & & O

oo ot 2ol s

create table tbl (id int primary key, a int);
insert into tbl values(10, 10);
insert into tbl values(20, 20);
insert into tbl values(40, 40);

TX1

(cubrid He|$==

)

TX2

51| insert into tbl values(30, 30);

= NULL_LOCK.

oCayr Moue o w
fers= B8, Num waite

LOCK HOLD

Tran_ ex = 1, Granted_mode = NS_LOCK, Count =

0ID = 1]

Object C a5 (o 69 2h) = tobl.
- ‘ oF waiters = NULL_LOCK.

1, Granted_mode = X_LOCK, Count =

id = 3004l CHoll U_LOCK= €11
A X8 Tx10| X_LOCK= & sadll M
PIES

© 2015 CUBRID Co., Ltd. All rights reserved.

—> id = 30,400l CHoll NS_LOCK &=

—> id = 3001l CHoll X_LOCK &5

update tbl set a=1000 where id = 30;

0ID =
Object type: S of class ( 69 24) =
e K, Total mode o
yIders= 8, Num

U_LOCK.

1, Granted_mode = X_LOCK, Count =

LOCK WAITER
Tran_index = 2, Blocked_mode
Start_waiting_at

U_LOCK
= Wed Jul 1 18:25:2
Wait_for_secs = -1.00

. ~{> CUBRID



7. &3 &EH =2I(INSERT VS RANGE SELECT)

— "cubrid lockdb databasename" & & O

&= ME Eol AL (cubrid Hel=ZE 3)
create table tbl (id int primary key, a int);

insert into tbl values(10, 10);

insert into tbl values(20, 20);

insert into tbl values(40, 40);

TXT TX2
51| insert into tbl values(30, 30);

y of class ( 0] 69] 24) = tb

ters = NULL_LOCK. —> Id = 30,400‘“ [:H6H NS_LOCK i!%

olders = NS_ otal mode ofF W
1, Hum blocké&u= s= B, Num waite

1, Granted_mode = NS_LOCK, Count =

MM 0 — 3001l i35l X_LOCK & s

= B8, Num waiters= @

1, Granted_mode = X_LOCK, Count = 1

select * from tbl where id betwen 20 and 30;

* from tbl where id between 2

SELECT Command in Line 1>

cted. (B8.80838

1 command{s) successfully processed.

V|
© 2015 CUBRID Co., Ltd. Al rights reserved. 21 “’7 CUBRID
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7. &3 &EH =2l (INSERT VS RANGE SELECT)

— "cubrid lockdb databasename" & & O

oo ot 2ol s

create table tbl (id int primary key, a int);
insert into tbl values(10, 10);
insert into tbl values(20, 20);
insert into tbl values(40, 40);

TX1

(cubrid He|$==

)

TX2

él insert mto tbl values(30, 30);

id = 300f CHoll S_LOCK= €11
A X8 Tx10] X_LOCK=S & sdll M
o=

© 2015 CUBRID Co., Ltd. All rights reserved.

= NULL_LOCK.

= NULL_LOCK.

j%a Num _hols

id = 30,4001 CHoll NS_LOCK &=

—> id = 3001l CHoll X_LOCK &5

select * from tbl where id between 20 and 30;

0ID =

Objec e : 2lass ( 8] 69] 24) = tbl.
X_LOCK, Total mode of waiters =
imUiocKed-holders=

8, Num waiters=
LOCK HO

» 1, Granted_mode = X_LOCK, Count =
LOCK WAITERS:

Tran_index =

S_LOCK
= Wed Jul 1 18:27:19 201°C

“J
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7. &3 HEH =2 (INSERT VS RANGE UPDATE)

— cubrid lockdb databasename &

&= AEH =0l As
create table tbl (id int primary key, a int);
insert into tbl values(10, 10);
insert into tbl values(20, 20);

insert into tbl values(40, 40);

(cubrid He|$==

)

TX TX2
él insert into tbl values(30, 30);

oCayr Moue o w
fers= B8, Num waite

LOCK HOLD

Tran_ ex = 1, Granted_mode = NS_LOCK, Count =

0ID = 1]
Object Class {8 24) = tbl.

1, Granted_mode = X_LOCK, Count =

id = 3001l CHoH NX_LOCK=S ¢
A X8 Tx10l NS_LOCK=
PIES

i
|=0

JVJ"

© 2015 CUBRID Co., Ltd. All rights reserved.

= NULL_LOCK.

oF walters = NULL_LOCK.

HA <

—> id = 30,400i CHoll NS_LOCK

Jor

| &=
=/

—> id = 3001l CHoll X_LOCK

o

| =
-

update tbl set a = 1000 where id between
20 and 25

0ID = -622
H[I|FI| i

Index

NX_LODCK)

NS_LOCK, C
LOCK WAITERS
Tran_ mlw NX_LOCK
At = Wed Jul
1.688

\4
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7. &3 HEH =2 (INSERT VS RANGE UPDATE)

— cubrid lockdb databasename &

&= AEH =0l As
create table tbl (id int primary key, a int);
insert into tbl values(10, 10);
insert into tbl values(20, 20);

insert into tbl values(40, 40);

(cubrid He|$==

)

TX TX2
él insert into tbl values(30, 30);

oCayr Moue o w
fers= B8, Num waite

LOCK HOLD

Tran_ ex = 1, Granted_mode = NS_LOCK, Count =

0ID = 1]
Object Class {8 24) = tbl.

1, Granted_mode = X_LOCK, Count =

id = 3001l CHoH NX_LOCK=S ¢
A X8 Tx10l NS_LOCK=
PIES

i
|=0

JVJ"

© 2015 CUBRID Co., Ltd. All rights reserved.

= NULL_LOCK.

oF walters = NULL_LOCK.

HA <

—> id = 30,400i CHoll NS_LOCK

Jor

| &=
=/

—> id = 3001l CHoll X_LOCK

o

| =
-

update tbl set a = 1000 where id between
20 and 25

0ID = -622
H[I|FI| i

Index

NX_LODCK)

NS_LOCK, C
LOCK WAITERS
Tran_ mlw NX_LOCK
At = Wed Jul
1.688

\4
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word:
Tran i User name Host name Process id Program name Query time
for lock holder SQL_ID SOL Tex

1{ACTIVE) DBA newlest1 6689 broker1_cub_cas_1 8.808
L ®x% pmplty *x

3(ACTIVE) DBA newTest1 25857 query editor_cub _cas 1 0.060

1 ®xx pmpty =

L{ACTIVE) DBA newTest 7665 csql 8.08
L ®x% pmpty =

S(ACTIVE) DBA newlest1 77082 csql 52.79
h 4255cB6da6593 update tbl set a = 18008 where i

Tran index : ESHE S |D(E el 24 & AHEH)
User name : DBAIE X 0l 8

Host name : &H|Y
Process id : E¢HZH
Program name : &
Query time : =3H=
Tran time : &l EHMEO| = fHAIZ
wait for lock holder : ol H=2=
SQL_ID : SQL TextOll CHet 00|

C
SQL Text : = =0l &Ol=

© 2015 CUBRID Co., Ltd. All rights reserved. 25

Tran time

a.a8

0.00

84.79

52.79

4
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[leeko1984BnewTestd] :~#cubrid killtran -i 5 leeko1984

Enter DBA password:
Ready to kill the following transactions:

Tran index User name Host name Process id

Do you wish to proceed ? {¥Y/H)Y
Killing transaction associated with transaction index 5

[leeko1984@newTest1] :~Hj]

csql> update tbl set a = 1888 where id between

csql> 28 and 25;

In the command/ from line 2,

Sl ERROR: Has been interrupted.

8 command{s) successfully processed.

csql> I

© 2015 CUBRID Co., Ltd. All rights reserved. 26

Program name

KillAI21 2 OFeH et 20| interrupted&l A =X &

-
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9. W =&ty

— WEAEH 2 HOIA (cubrid Zel+=& 3,4)

create table tbl3 (id int); (18] id = 200l CH3H NX_LOC
create index ix_tbl3_id on tbl3(id);

insert into tbl3 values (10), (20), (30), (4 / [224] id = 4001l CHai NX_LOC

X X
Jtob

commit;

Al
2t
[4%1] id = 200 THaH NX_LOCK &S
[181] —> [3FH] —> [281] —> [481] =M 2 HA0| XSG X WEAEY LAl

.
© 2015 CUBRID Co., Ltd. Al rights reserved. 28 ‘4 CUBRID



9. W=

J_CI-/C\DI- EH
wWE AR B0l ALE(20H2 EMEA) (cubrid Hel+== 3,4)
TX2
= id = 30,400 Ciol NS_LOCK &=

& A
create table tbl (id int primary key, a int);
> id = 300fl CHoH X_LOCK &5

insert into tbl values(10, 10)

insert into tbl values(20, 20)
insert into tbl values(40, 40)
TX1

24) = tbl.
= NULL_LOCK

69|
jJaiters =
5]

insert into tbl values(30, 30)
( 8|

1

1

2t
[
0ID = -622| 3190|-32469
Htljwl type: Index key of class (
Index name: pk_tbl_id
Total mode of holders = NS_LOCK, jiotal mode of
Num holdet , Num blockéd=heilers= 0, Num waiter
1, Granted_mode = NS_LOCK, Count = L
=nd 69{" 24) = tbl.
tal mode of waiters = NULL_LOCH
8, Num waiters= @
= 1
update tbl set a = 1000 where id between
20 and 25;
1 of cla { 8] 69| 24) = tbl.
iS_LOCK, Total mode of waiters = NX_LOCK .
) » 8, Num waiters=
LOCK, Count = 1

Count
NS

]
4

Soll A CHOI

H‘IIIH HOL
Tran_
\H 5

blocked-holders=

T

1

1

1

01D = 1) 390
Object type: Instance of cl
Total mode of holders =
Num hold , Hum [\l\.ll ked
LOCK HOL
= 1, Granted_mode = _LOCK,
id = 300fl THaHl NX_LOCKS &
2 X8 Tx10l NS_LOCK= & =oiM o
-||I I|||1.|1M¥
Num
“TFdH_lHH , Granted_mode =
LOCK WAITE
Tran_inde Blocked_mode = NX_LOCK
rt_waiting_at = Wed Jul 1 18
”.—Ii|7|llli'—.l-‘li'—‘ = 1.68
0 A X8 Tx2JF X_LOCKE &
=
J ™
\‘ CUBRID

PIES

update tbl set a = 2000 where id€ 20;)
'H

HEecH

d =200 CHoll U_LOCK

WEAE ASZXZ 1o
H0l Nts E=23

006 where 1d =

update tbl set a =
4, DBABnewTest1|7665) has been unilaterall

csql> o
In the command from line 1

Your transaction (inde

system.

cRROR: Yol
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ted by the




9. W =&ty

X2

TX3

= o
create table tbl (id int primary key, a int);
insert into tbl values(10, 10), (20, 20), (30,30)

X1

wE AR Bl AlS(3JHel EMR M) (cubrid 22|&== 3,4)

5 id = 400 THaH NS_LOCK &S
, id = 400!l THaH X_LOCK & S

24) = tbl.
NK_LOCK. )

69|

insert into tbl values(40, 40)

NI :
2
[
01D = -622| 390|-32469
H[\jwl type: Inde ey of class { 0] 69 24)
Index name: pk_tbl_id
Total mode of holders = NS_LOCK, Total node of vaiterf = NULL_LOCH
Nun holdet 1, Num blocked-holdet Num vaiters= @
LOCK HOLDER
Tran_index 1, Granted_mode NS_LOCK, Count 1
B 69]-24) = tbl.
ot)T node of waiter NULL_LOCH
o vaiters= @

0ID = 1] 398] 43

Object type: Instance of cl

e s= 0, Num
1

m;]v of holder
1, Num blocké
LOCK, Count

M\idl r

Nun holder
DER
1, Granted_mode

o=

update tbl set a=1000 where

In the conmand fr

aborted by the system

sfully processe

id = 400i CHoll NX_LOCK
2 X8 Tx10l NS_LOCKS &l =0oll A

390|-32469
ey of clas
Total mode of waiter

01D = -622

Total

Hum holder

LOCK HOLE
Ir _im

O
RROR: Your transaction (index 6, DBA@newTest1]3974) has been unilateral

update tbl set a=2000 where id = 30

Object type: Inde
Index name: pk_tbl_1d
node of holders =

1, Num blocked-holdet

NS_LOCK, Count

LOCK AT
Tran_index =

o
B
20 8

s (0
ra1ter 1

NS_LOCK,
= B, Num

t; Granted_mode

Blocked_mode NX_LOCK
tart_vaiting_at = Wed Jul 1 18:30:13
‘.Hil_lw‘_‘-.wa = -1.08

O Gl CHoll tx2JF U_LOCKS
A U_LOCKE =S DS

2 So A THDI

X
+

0ID = 1|
Object type
Total mode of holder
Num_holdeys —

LOCK HO
Tran_

T

LOCK WAI 1
Tran_inde

Xl e

/}LI

N id = 2001 CHoll NX_ LOCKE 2 1)
Tx3IF NX_LOCK=

D commantyss=slLCLes

| Eenmy
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30

update tbl set a=2500
where id between 20 and 30;
69] 27)

390|
Instance of cla
Num DIocked-holder
U_LOCK,

{ 9]
Total mode
8, Num waiter

U_LOCK,
Count

Granted_mode
U_LOCK
Thu Jul

6, Blocked_mode
Start_waiting_at
Wait_for_secs = -1.00
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